1. The width of a rectangular dance floor is w feet. The - 2.
length of the floor is 6 feet longer than its width. Which /e_, - (0 -‘\- W
of the following expresses the perimeter, in feet, of the

dance floor in terms of w? ?'—‘—'2}:"‘9‘/\7

A) 2w +6

=2(0tW)t
SO
C) w?+6 - ‘-‘[ W'H 2/ In the figure above, RT = TU. What is

D) w? + 6w the value of x ?

A) 72

B) 66
64
58

3. V2x+6 +4—x+3 4. The sum of —2x2 + x + 31 and 3x% + 7x — 8 can be
written in the form ax” + bx + ¢, where a, b, and ¢

Wi thC SOluth ot Ofthe cquatj ) are constants. What is the valyeof a+ b+ ¢ ? }
A ) Z 2/t ’é( 2 Y+ +2X + X5

T etk (X BX+27
— 3

D) {0, -1, 5}




” e XZax_—x(Axa)

Z x> (X3t
Which of the following expressions is equivalerM »( X (X

) 40103 7 =Xx(xeld
8(x)
o ’ x-S

fx)

) ——

x+1

x+1

-2 XA

x+1

7. x+1=i

x+1

In the equation above, which of ¢ owingis a
p0551ble value @ — L
o1 (¥ ﬂ) =

C) 2
D) 4

p 213 "’X( X-f‘}}

6. glx) =2x- lm (

W) =1-2) Yyp) = l/ﬂ(b = [—
3‘33 efuor;c;l((:)r)ls?g and h are defined above. What is the(. D ) }('b) p— ’

A) -2
B) 0
C)_1

Which of the following is a value of x for which the

> (X t5)(X -7)=o

——— is ungefined? \D
’ s

expression
x“+3x-10 ==

A) -3

B) -2 t;

Q)



Geometry Topic 5—Conditional Statements and Converses

Objective: Conditional Statements

A m@ lf E - i l Welent, such as “If you do your chores,
yop c e igs.” Every conditional has two parts. The partyfollowing jfis the
he part following then is the MM

Example 1: Identify the hypothesis and conclusion of each conditional statement.

A. If Georgia won the Rose Bowl game, then/Georgia was college football’s national champion.

B.If T —38 =3, then T=41.

C. If two lines are parallel, then'the lines are coplanar.

A conditional can have a ¢ YW\ V ANUE  of Sy VLor € A NS . To show thata

conditional is true, show that every time the J true, the
is also true. To show that a cgnditional is , you need to find one
Coww - for which the hypothesis IS true and the conclusion is false.

You can rewrite many sentences so that they form conditionals. You may have to add words to
make it grammatically correct, but it is important to keep the words in the same order.

Example 2: Write a conditional from each sentence.

A. Arec Iﬁhasﬁwag]fg a/ B. Atigertplammal (Wblj
( )mmciua, wenif 15 o m(fg';/a’f}’\%m

C. A square has four tongruent sid OV D When it rains we stay m51de for g%

)
B

Example 3: Find a counterexample to show that each conditional below is false.

A. Ifit ii’l%u\aj then there ar&z’nly 28 days in the m&VL
B. If the name.of the state contains the,word New, then the state borders af ocean.

fodse.  Naw Mex\co.
C.If x* >0, then x > W\g{/ NQ% :{:\55



Objective: Writing converses of conditionals

The g ;on \/-»Q @enditional statement switches the h 3?5)1/]2(5 lal&l the

Consider the vertical angle theorem we learned in Topic 4: “If two lines intersect to form vertical
angles, then the angles have the same measure.”

But what if you change the structure of the theorem's sentence? Consider the following statement:
"If two angles have the same measure, then they are vertical angles." Is this new statement true or

false? Can you think j an example that would make this statement false?

The example you found to make the converse false is called a C’O\A'ﬂ‘,(<lY OI\IL'

Example 6: Write the converse of each conditional below. What is its truth value? Give a
counterexample if the truth value is false.

A. Ifx =2, then |xjj= 2 =
& =2 —H\énl);e/ X="=2=
B. If a figure is a sqyare, then jth ide S L(Sld\w _('V\L -
ELE 1’ “T,&m Fase Yol

CIfap01 an X-coo, ‘el(‘;f) et‘- W 0{)(\.5
AT A AL A it 6 T

D. If two angles are congruent then they have the same measuye.
AT TR
‘Q ! QL TLRIC e y

Example 5: Write the converse of each conditional below. You may have to add words to make it
grammatically correct, but the phrases need to be in the Iect order.

A. If two-lines)i \Wect to(forﬂﬁ 'gan perpengicular. n
g e L T A
B. If two angles arg supplement; ﬂ jd &'&%ree‘ko .
V2R Vi dyﬁ\ “UL P

C.Ifx=9,thenx+3=1‘2.£ X,(,b:: Z‘ 'H’\Q;V\ x q



